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CCNA2 Chapter 8 Practice Test Answers

C    192.168.3.0/24 is directly connected, Serial0/1

Which are true of this route? (Choose 3)

· This is an ultimate route.

· This is not an ultimate route.

· This is a level 1 route.

· This is a level 2 route.

· This is a network route.

· This is a supernet route.

· This is a parent route.

· This is a child route.

R    192.168.4.0/24 [120/2] via 172.30.1.1, 00:00:02, Serial0/0
Which are true of this route? (Choose 3)

· This is an ultimate route.

· This is not an ultimate route.

· This is a level 1 route.

· This is a level 2 route.

· This is a network route.

· This is a supernet route.

· This is a parent route.

· This is a child route.

172.30.0.0/24 is subnetted, 3 subnets

C   172.30.1.0 is directly connected, Serial0/0

C   172.30.2.0 is directly connected, Serial0/1

R   172.30.3.0 [120/1] via 172.30.2.2, 00:00:12, Serial0/1

Which are true of the route to 172.30.3.0? (Choose 3)

· This is an ultimate route.

· This is not an ultimate route.

· This is a level 1 route.

· This is a level 2 route.

· This is a network route.

· This is a supernet route.

· This is a parent route.

· This is a child route.

172.30.0.0/24 is subnetted, 3 subnets

C   172.30.1.0 is directly connected, Serial0/0

C   172.30.2.0 is directly connected, Serial0/1

R   172.30.3.0 [120/1] via 172.30.2.2, 00:00:12, Serial0/1

Which are true of the route to 172.30.0.0? (Choose 3)

· This is an ultimate route.

· This is not an ultimate route.

· This is a level 1 route.

· This is a level 2 route.

· This is a supernet route.

· This is a parent route.

· This is a child route.

172.30.0.0/24 is subnetted, 3 subnets

C   172.30.1.0 is directly connected, Serial0/0

C   172.30.2.0 is directly connected, Serial0/1

R   172.30.3.0 [120/1] via 172.30.2.2, 00:00:12, Serial0/1

S    172.30.4.0 [1/0] via 172.30.1.2
Which address will require a recursive lookup?

· 172.30.1.24

· 172.30.2.24

· 172.30.3.24

· 172.30.4.24

A router has three directly connected networks, 192.168.9.0/26, 192.168.9.64/26 and 192.168.9.128/26. What parent route will be included in the routing table?
· 192.168.9.0/24

· 192.168.9.0/26

· 192.168.9.0/28

· 192.168.0.0/16

172.30.0.0/24 is subnetted, 3 subnets

C   172.30.1.0 is directly connected, Serial0/0

C   172.30.2.0 is directly connected, Serial0/1

R   172.30.3.0 [120/1] via 172.30.2.2, 00:00:12, Serial0/1

S    172.30.4.0 [1/0] via 172.30.1.2
C    172.30.5.0 is directly connected, FastEthernet 0/0

S*   0.0.0.0/0 is directly connected, Serial 0/0
The router with this routing table is running an IOS with a version before 11.3 and the default routing behaviour has not been changed. What will happen to a packet addressed to 172.30.3.6?

· It will be forwarded through Serial 0/0
· It will be forwarded through Serial 0/1

· It will be forwarded through FastEthernet 0/0

· It will be dropped

172.30.0.0/24 is subnetted, 3 subnets

C   172.30.1.0 is directly connected, Serial0/0

C   172.30.2.0 is directly connected, Serial0/1

R   172.30.3.0 [120/1] via 172.30.2.2, 00:00:12, Serial0/1

S    172.30.4.0 [1/0] via 172.30.1.2
C    172.30.5.0 is directly connected, FastEthernet 0/0

S*   0.0.0.0/0 is directly connected, Serial 0/0
The router with this routing table is running an IOS with a version before 11.3 and the default routing behaviour has not been changed. What will happen to a packet addressed to 172.30.6.6?

· It will be forwarded through Serial 0/0

· It will be forwarded through Serial 0/1

· It will be forwarded through FastEthernet 0/0

· It will be dropped

172.30.0.0/24 is subnetted, 3 subnets

C   172.30.1.0 is directly connected, Serial0/0

C   172.30.2.0 is directly connected, Serial0/1

R   172.30.3.0 [120/1] via 172.30.2.2, 00:00:12, Serial0/1

S    172.30.4.0 [1/0] via 172.30.1.2
C    172.30.5.0 is directly connected, FastEthernet 0/0

S*   0.0.0.0/0 is directly connected, Serial 0/0
The router with this routing table is running an IOS with a version before 11.3 and the default routing behaviour has not been changed. What will happen to a packet addressed to 172.31.3.6?

· It will be forwarded through Serial 0/0

· It will be forwarded through Serial 0/1

· It will be forwarded through FastEthernet 0/0

· It will be dropped

A router running IOS version 11.2 has a default route but it is dropping packets addressed to hosts on the subnet 192.168.1.64/28, which is not in its routing table. Subnet 192.168.1.32/28 is in its routing table. What can an administrator do so that these packets use the default route?
· Switch to a classless routing protocol

· Give the command ip classless

· Give the command no ip classless
· Configure the default route again
Gateway of last resort is not set

192.168.1.0/24 is variably subnetted, 4 subnets, 2 masks

C   192.168.1.0/27 is directly connected, FastEthernet0/0

C   192.168.1.96/27 is directly connected, FastEthernet0/1

R   192.168.1.160/27 [120/1] via 192.168.1.193, 00:00:12, Serial0/0
C   192.168.1.192/30 is directly connected, Serial 0/0

What will happen to a packet addressed to 192.168.1.120?

· It will be forwarded through FastEthernet0/0

· It will be forwarded through FastEthernet0/1

· It will be forwarded through Serial0/0

· It will be dropped

Gateway of last resort is not set

192.168.1.0/24 is variably subnetted, 4 subnets, 2 masks

C   192.168.1.0/27 is directly connected, FastEthernet0/0

C   192.168.1.96/27 is directly connected, FastEthernet0/1

R   192.168.1.160/27 [120/1] via 192.168.1.193, 00:00:12, Serial0/0
C   192.168.1.192/30 is directly connected, Serial 0/0

What will happen to a packet addressed to 192.168.1.38?

· It will be forwarded through FastEthernet0/0

· It will be forwarded through FastEthernet0/1

· It will be forwarded through Serial0/0

· It will be dropped

Which route would provide the best match for a packet addressed to 172.16.0.12?
· 172.16.0.0/16

· 172.16.0.0/20

· 172.16.0.0/24

· 172.16.0.0/28

· 172.16.0.0/30

A router has a static route to 172.16.0.0/16 and a RIPv2 route to 172.16.1.0/24. Which route will be used by a packet addressed to 172.16.1.6?
· The static route because it has a lower administrative distance

· The RIPv2 route because it is a better match

· Load balancing will be used so it might go on either route

· The packet will be dropped
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